

BI.

理工基礎 2023

$$1) (a) \underline{Fick}$$

$$(b) \bar{J}_A = C_A (u_A - u^*)$$

$$= C_A (u_A - \gamma_A u_A - \gamma_B u_B)$$

$$= N_A - C_A (\gamma_A u_A + \gamma_B u_B)$$

$$= N_A - C \gamma_A (\gamma_A u_A + \gamma_B u_B)$$

$$= N_A - \gamma_A (C_A u_A + C_B u_B) = N_A - \gamma_A (N_A + N_B)$$

$$2) (c) \quad N_{Bz} = 0 \quad F) \quad \bar{J}_{Az} = N_{Az} (1 - \gamma_A) = -CD \frac{d\gamma_A}{dz}$$

$$\text{よって} \quad \frac{d\gamma_A}{dz} = - \frac{(1 - \gamma_A) N_{Az}}{CD}$$

$$(d) \int_{\gamma_{A0}}^{\gamma_A} \frac{d\gamma_A}{1 - \gamma_A} = \int_{z_0}^{z_0 + z} - \frac{N_{Az}}{CD} dz$$

$$- [\ln(1 - \gamma_A)]_{\gamma_{A0}}^{\gamma_A} = - \frac{N_{Az}}{CD} \cdot z$$

$$\ln \left(\frac{1 - \gamma_A}{1 - \gamma_{A0}} \right) = \frac{N_{Az}}{CD} \cdot z$$

$$(e) \quad \text{よって} \quad z = z_0 + H \text{ まで } A \text{ の範囲 } z \text{ の長}$$

$$\ln \left(\frac{1 - \gamma_{AH}}{1 - \gamma_{A0}} \right) = \frac{N_{Az}}{CD} H$$

$$N_{Az} = \frac{CD}{H} \cdot \ln \left(\frac{1 - \gamma_{AH}}{1 - \gamma_{A0}} \right) = \frac{CD}{H} \cdot (\gamma_{A0} - \gamma_{AH}) \cdot \frac{\ln \left(\frac{1 - \gamma_{AH}}{1 - \gamma_{A0}} \right)}{(\gamma_{A0} - \gamma_{AH})}$$

$$\text{よって} \quad \gamma_{A0} = 1 - \gamma_{B0}, \quad \gamma_{AH} = 1 - \gamma_{BH} \quad \# (1)$$

$$\gamma_{A0} - \gamma_{AH} = \gamma_{BH} - \gamma_{B0}, \quad \ln \left(\frac{1 - \gamma_{AH}}{1 - \gamma_{A0}} \right) = \ln \left(\frac{\gamma_{BH}}{\gamma_{B0}} \right)$$

$$\text{よって} \quad N_{Az} = \frac{CD}{H} \cdot (\gamma_{A0} - \gamma_{AH}) \cdot \frac{\ln \left(\frac{\gamma_{BH}}{\gamma_{B0}} \right)}{(\gamma_{BH} - \gamma_{B0})}$$

$$\text{よって} \quad R = \frac{\gamma_{BH} - \gamma_{B0}}{\ln \left(\frac{\gamma_{BH}}{\gamma_{B0}} \right)}$$